
Sheetnr.: 49.90.30.79 | REV: 00

User manual

Gebruikshandleiding

Gebrauchsanweisung

Mode d’emploi

Brugermanual

Instruktionsbok

BERG   
Regular 410 & 500 

+ Ladder L



Go to the BERG toys channel on

for installation instruction video’s
www.youtube.com/bergtoys

4x1

4x16 2x17 4x18 1x19 1x20

4x4 4x5 4x6 4x7

1x8 1x9 2x10 2x11

2x12 2x13 4x14 2x15

4x2 8x3

M6 x 45 M6 x 35



3

Go to the BERG toys channel on

for installation instruction video’s
www.youtube.com/bergtoys

4x1

4x16 2x17 4x18 1x19 1x20

4x4 4x5 4x6 4x7

1x8 1x9 2x10 2x11

2x12 2x13 4x14 2x15

4x2 8x3

M6 x 45 M6 x 35



4

4x4 4x5 4x6 4x78x34x24x1

1

2

4x

8x

CLICKCLICK



5

4x4 4x5 4x6 4x78x34x24x1

1

2

4x

8x

CLICKCLICK

3

4

2x

6x 32x



6

2x10

1x204x14

M6 x 45

1x9 2x121x8

1x204x16

4x 4x

5

7

6

8



7

2x10

1x204x14

M6 x 45

1x9 2x121x8

1x204x16

4x 4x

5

7

6

8

1x201x19

2x17 4x182x152x11

M6 x 35

9

11 13

10

2x13

2x2x

2x12 2x



B/N sticker

BERGTOYS.COM


